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INTRODUCTION

These tests are to change the attitudes of both teachers and students to classroom activities.

The teacher who brings these tests into the study is not depriving the students of language practice, but is, instead, providing a richer context for such practice.    

The course consists of 6 units. Each unit contains the following:

* The test in modern English Grammar and the vocabulary

* The text followed by a number of questions.

When teachers use texts for reading, they are often too concerned with what was written at the expense of how. 

Reading in any language is an affective as well as a cognitive process. The teacher’s role is not that of corrector or judge, but rather that of  enabler. The teacher assists with language, error, but should not replace the student’s perceptions with his or her own.  

TEST 1
STRUCTURE AND WRITTEN EXPRESSION
Directions: In this part each problem consists of an incomplete sentence. Below the sentence are four choices marked (A), (B), (C) and (D). You should find the one choice which best completes the sentence. 

1. Food preparation is, and has been, the most fundamental art developed                              by ……………….…. .

	(A) a man
	(C) the man

	(B) man
	(D) the men


2. Some guests are allergic ……………..…. eggs.   

	(A) for
	(C) against

	(B) from
	(D) to


3. Scarcely ……………..…. when dinner was served.
	(A) had he arrived
	(C) he had arrived

	(B) he arrived
	(D) did he arrive


4. The guest must have been tired if he ………………. in the hall.
	(A) fell asleep
	(C) had fallen asleep

	(B) fall asleep
	(D) will fall asleep


5. Isn’t it about time you ………………..…. your coat off?
	(A) take
	(C) will take

	(B) took
	(D) are taking


6. What is the …………….. difference between computers and humans ?

	(A) false
	(C) correct

	(B) essential
	(D) very


7. Employee performance, vital to the success of any enterprise, is importantly affected ………………..…. how well employees can identify their goals with those of the company.

	(A) with
	(C) by

	(B) at
	(D) in


8. One person alone, however, cannot communicate: there ………………….….   a sender and a receiver.                       

	a) must be
	c) will be

	b) can be
	d) would be


9. Parks, swimming pools and libraries are all examples of public ……………. .                                   

	(A) conveniences
	(C) provisions

	(B) entertainments
	(D) amenities


10. You ought to buy his property off him: at one hundred pounds, it’s real ……. .                                                                                                                    

	(A) money for old rope  
	(C) value for money

	(B) cash in the bank
	(D) pennies from heaven     


11. It was very ………………………. of you to start your own business.

	(A) enterprising
	(C) initiative

	(B) undertaking
	(D) incentive


12. The tap is ………………….. . It probably needs a new washer.
	(A) watering
	(C) trickling

	(B) dripping
	(D) dropping


13. Is this hotel easy to find? Well, it’s a bit off the beaten ………..…., I’m afraid.

	(A) way
	(C) lane

	(B) road
	(D) track


14. When money is short, you just have to cut ……………………….…. luxuries.

	(A) down on
	(C) away from

	(B) out of
	(D) up with


15.  It’s a complete misunderstanding. She really has got hold of ………………. . 

	(A) the wrong end of the stick
	(C) a bee  in her bonnet

	(B) the very idea
	(D) an axe to grind


16. He just managed to survive by the skin of his ……………………. .

	(A) ears
	(C) teeth

	(B) nose
	(D) tongue


17. If you are a vegetarian, you should give up eggs and milk as well as meat if you want  to be …………..…. .

	(A) consequent
	(C) constant

	(B) consistent
	(D) logic


18. …………….…. that the bellboy has worked so hard, he can take tomorrow off.

	(A) Seen
	(C) Just now

	(B) In view
	(D) Seeing


19. These successful hotel managers get enormous satisfaction from being in charge ………………….…. a complex organization.

	(A) for
	(C) from

	(B) of
	(D) out of


20. Waiters, waitresses, and bartenders also ………………….…. receive tips.

	(A) may
	(C) must

	(B) can
	(D) should


TEXT 1
Menu and Nutrition
Read and translate the text using a dictionary

The writing of a menu is probably the most difficult job for any chef or food service manager. There is a framework of constraints that sometimes challenges the imagination of the menu writer. Nutrition is becoming another factor to be taken into account when writing a menu.

There are few times that a menu can be improved to a customer. Even when that occurs the nutritionist does not always succeed in providing a balanced diet. The best example is the ton of vegetables that end in the food disposals of those American schools that serve lunch. We may say that nutrition education should start in the family, but evidently it does not always. Today there seems to be more awareness of the importance of nutrition. How can the menu help this new trend?

Assuming that the customer knows his needs, we may provide the choices to satisfy them. In many restaurants, few people could follow a low fat diet. Sometimes I find restaurants that have five items on the menu – two or three broiled items and two or three deep fried items. If the broiled items are steaks, generally one large steak is served, and if it is fish, generally it will be covered by a butter sauce or bread crumbs soaked in butter. Either one will force the customer to eat less than what he is paying for or encourage him to break his diet.

Cooked vegetables are disappearing from many restaurant menus and are being replaced by potatoes (fried, baked or hash). In many college cafeterias it would be difficult if not impossible to follow a low carbohydrate diet. The many versions of chicken tetrazzini, tuna casseroles and strogonoff on noodles are becoming the rule rather than the exception. However, the quantity should not replace quality.

The nutrients we need are proteins, fat, vitamins, carbohydrates and minerals. In addition, we need water and fibres. The amounts we need of each category are moderate. An excessive amount of fat proteins and carbohydrates will be stored by our body and create “obesity”. An individual who consumes potato chips, hamburgers, deep fried fish, carbonated beverages and candies omitting milk, eggs, fruits and vegetables is on a high calorie diet, but an unbalanced diet.

Vitamin pills can only help if the right diet is followed. In fact in most cases natural vitamins are contained in sufficient quantities in the food we eat. An excessive amount of vitamins may harm people.

The food service industry may help nutrition by preparing food that is healthy, eliminating useless fats and retaining the natural nutrients in the preparation process.

reading comprehension
Directions: After reading the text, choose the best answer to each question. Answer all questions following the text on the basis of what is stated or implied in   the text.
1. The text primarily discusses the point of

a) franchising

b) menu and nutrition

c) banking

d) advertising

2. Which of the following is true?

a) …………………. the quantity should not replace quality.
b) …………………. the quantity should  replace quality.
c) …………………. the quality should not replace quantity.
d) …………………. the quantity should  replace nutritiousness.
3. The word “obesity” in line 26 is closest in meaning to

a) thinness

b) fragility

c) delicacy

d) stoutness

4. The word “harm” in line 31 is closest in meaning to

a) damage

b) benefit

c) handle

d) accept

TEST 2
STRUCTURE AND WRITTEN EXPRESSION
Directions: In this part each problem consists of an incomplete sentence. Below the sentence are four choices marked (A), (B), (C) and (D). You should find the one choice which best completes the sentence. 

1.  Some employees work on split  shifts, which ………….… they are on duty for several hours during one meal, take some time off, and then return to work for the next busy period.

	(A) mean
	(C) meaning

	(B) means
	(D) meant


2.  …………… lodging establishments are usually open continuously, employees must work on shifts.
	(A) Since
	(C) During

	(B) Although
	(D) For


3.  Although somewhat less competitive in the early stages of your career, you will find that the hospitality industry pays very well as you work your way ………. in the management ranks.
	(A) from
	(C) up

	(B) down
	(D) at


4.  As lodging operations have become more complex, the emphasis on training ………………. .
	(A) increases
	(C) has increased

	(B) is increasing
	(D) will be increased


5.  The remainder ………….. cashiers, bookkeepers, telephone operators, secretaries, and other clerical workers whose jobs are much like clerical jobs elsewhere.
	(A) are
	(C) were

	(B) is
	(D) was


6.  ……….. of the anticipated employment growth will stem from the need to staff new lodging establishments.
	(A) Much
	(C) Many

	(B) Few
	(D) Most


7.  People who you work ……… in the hospitality industry can be very rewarding.
	(A) at
	(C) with

	(B) to
	(D) for


8.  Long working hours ……………… one of the most common complaints associated with a career in hospitality management.
	(A) is
	(C) have been

	(B) are
	(D) were


9.  This  is a “people business”; it is an industry of serving people in many different ways from all ……………. of life.
	(A) tracks
	(C) fields

	(B) ways
	(D) walks


10. Very often the hotel or motel is operated ……………… a management contract.
	(A) on
	(C) in

	(B) under
	(D) through


11. Lodging facilities are …………………. often associated with referral firms.
	(A) too
	(C) also

	(B) although
	(D) however


12. …………., the products, services, decor, and prices that are offered by individual properties may vary drastically.
	(A) In fact
	(C) At times

	(B) Furthermore
	(D) For example


13. It is not ……………….. for a franchised restaurant, hotel or motel to be part of a chain of franchised units.
	(A) common
	(C) usual

	(B) familiar
	(D) uncommon


14. Most hospitality chains have ………………………. other business interests.
	(A) many
	(C) much

	(B) few
	(D) a few


15. In response ……………… the activity in franchising the government regulation is increasing.
	(A) to
	(C) of

	(B) for
	(D) within


16. The length of a contract may vary, but generally ……………….. 20 - year contract is usual.
	(A)  - 
	(C) the

	(B) for
	(D) a


17. The company can manage ……………….. three to four times more properties with the same staff.
	(A) as little as
	(C) as many as

	(B) as less as
	(D) as much as


18. Finally, the poor performance of other franchises may have a detrimental effect ………………… a franchise operation.
	(A) on
	(C) for

	(B) at
	(D) to


19. There …………… be knowledge available from the franchisor in the specifics of equipment financing.
	(A) may
	(C) can

	(B) should
	(D) ought to


20. The length of the contract is also an important part of the agreement and usually varies with the type of facility ……………….. .
	(A) to have been managed
	(C) to be managed

	(B) to have managed
	(D)  to have been managing


TEXT 2
HUMAN RESOURCE MANAGEMENT 
Read and translate the text using a dictionary

The objective of this paper is to provide an introductory overview to personnel management and industrial relations in the hospitality industry. This will include a review of why this function is of importance to the success and survival of hospitality firms. From that point of departure the various sub-functions of personnel management will be briefly noted, as will those in industrial relations.

"Human Resource Management" is the relatively new term for personnel management. This new title stresses the important concept that the human side of the enterprise is a critically important resource. In nearly all business, labour is an important determinant in profitability; in the service sector it is crucial. Recently increased emphasis has been placed upon human resource management. Some of this increased attention is due to a general increase in the awareness of management in general to the needs of personnel. However, it is felt that there are essentially two reasons for this heightened concern about the human elements in the hospitality  industry.
First, the industry is recognizing that the interaction between the employee and the customer in a service situation is critical. Rehaghan in discussing the marketing mix for hospitality industries, places emphasis on this interaction. In both his "Product — Service Mix" and "The Presentation Mix" he feels that the amount and type of interaction between the customer and the employee are extremely important together with the other elements of these mixes. No longer is it competitively feasible to ignore the human elements of the organization. Increasingly the public is expecting and demanding better service. Those firms which are able through their employees to deliver this better service will be in a definitely superior competitive position.

The second reason for increased concern is the factor of ever escalating costs associated with labour. At one time labour costs represented a relatively small percentage of total costs. This is no longer true, and it would appear that five elements contribute to this increase in labour cost. The first is that the legislation relative to minimum wages under the Federal Fair Labour Standards Act and State laws has forced the beginning wages of employees in this industry to ever increasing levels. This leads to increases for all other employees within the industry. The second element is that the availability of labour who are willing to work in entry positions in hospitality industries has declined. Traditionally the hospitality industry has depended heavily upon the youth market to fill many of the entry level positions. 

reading comprehension

Directions: After reading the text, choose the best answer to each question. Answer all questions following the text on the basis of what is stated or implied in   the text.
1. According to the text …………. the human side of the enterprise is

a) a critically inessential resource.
b) a critically important resource.
c) a critically uncostly resource.
d) a critically unwanted resource.
2. Which of the  following is true?

a) ……………… the public is expecting  and demanding better service.
b) ……………… the public isn’t expecting  and demanding better service.
c) ……………… the public is expecting  and demanding much money.
d) ……………… the public is expecting  and demanding good tips.
3. The word “concept” in line 7 is  closest in meaning to 

a) situation

b) stimulation

c) nation

d) idea
4. The word “crucial” in line 9 is closest in meaning to

a) decisive

b) decimal

c) deciduous

d) deceptive

TEST 3
STRUCTURE AND WRITTEN EXPRESSION
Directions: In this part each problem consists of an incomplete sentence. Below the sentence are four choices marked (A), (B), (C) and (D). You should find the one choice which best completes the sentence. 

1. The specific provisions common to most agreements ………………. in more depth in a later section.

	(A) is discussed
	(C) will be discussed

	(B) was discussed
	(D) would be discussed


2. The management contract, as a form of doing business, has been ……………. for some  time.

	(A) around
	(C) above

	(B) about
	(D) below


3. Advertising and sign programmes should be ………………… operational services, just as are the inspection programme and participation in the insurance package.

	(A) goings-on
	(C) ongoing

	(B) go-go
	(D) going to


4. As a result, these organizations began ……………… alternative strategies to finance their growth such as franchising.
	(A) to stop
	(C) to block up

	(B) to pursue
	(D) to close up


5. Today we have many products that are ………………… the market which can save many steps; as a matter of fact, they save all the steps but the last-deep frying or ovenizing or reheating.
	(A) on
	(C) for

	(B) at
	(D) of


6. If you use fresh and frozen vegetables you end …………………. paying labour cost twice - yours and that of the food manufacturers.
	(A) for
	(C) down

	(B) within
	(D) up


7. If some convenience food is being used in order to increase the offerings of your menu, it may not decrease your labour cost, but it …………………. increase your revenues and profit.
	(A) may
	(C) ought to

	(B) might
	(D) must


8. The food service industry may help nutrition by preparing food that is healthy, eliminating ………………… fats and retaining the natural nutrients in the preparation process.
	(A) nourishing
	(C) useless

	(B) tasty
	(D) useful


9. The writing of a menu is probably …………………. job for any chef or food service manager.
	(A) more difficult
	(C) the least difficult

	(B) the most difficult
	(D) less difficult


10. Nutrition ………… another factor to be taken into account when writing a menu.
	(A) becomes
	(C) become

	(B) will become
	(D) is becoming


11. There are few times that a menu ………………….. to a customer.
	(A) can be improved
	(C) should be improved

	(B) must be improved
	(D) ought to be improved


12. Cooked vegetables are disappearing from many restaurant menus and …………………… by potatoes (fried, baked or hash).
	(A) will be replaced
	(C) are being replaced

	(B) had been replaced
	(D) were being replaced


13.  ………………., the quantity should not replace quality.
	(A) In addition
	(C) Sometimes

	(B) However
	(D) In conclusion


14. In fact in most cases natural vitamins are contained in ………………….. quantities in the food we eat.
	(A) enough
	(C) impossible

	(B) fewer
	(D) sufficient


15. This definition of food safety is ……………….. encompassing than the term “sanitation” which is more commonly used in the food service industry.
	(A) less
	(C) more

	(B) least
	(D) most


16. A lapse in the food safety controls of a single menu item may result ……………… the illness of many persons.
	(A) in
	(C) to

	(B) from
	(D) of


17. Achieving the goal of serving safe food is hampered by a number of factors, some of which are ………………….. the control of the industry.
	(A) under
	(C) over

	(B) beyond
	(D) below


18. A customized piece of equipment for that single unit was made at a cost of 400 per cent over what …………………. .
	(A) have been expected
	(C) had been expected

	(B) will have been expected
	(D) has been expected


19. Age, social, and economics of your potential guest must be taken into consideration ……………. the design stage.
	(A) at
	(C) during

	(B) in
	(D) for


20. Beverage control is profit ………………… for the beverage industry.
	(A) diagram
	(C) plan

	(B) drawing
	(D) planning


TEXT 3
THE FUNCTIONS OF MERCHANDISING
Read and translate the text using a dictionary

There are five merchandising functions that are listed herein, which, when interwoven into the guest's dining experience, can lead to increased guest satisfaction and higher profits. They are:

I.                        Suggestive Selling      

II.                       Product Packaging

III.                      Point of Purchase Materials

IV.                      Menu

V.                       Added Value Alternatives

Suggestive selling is the subject matter of this text.
Restaurants have a distinct merchandising opportunity since all guests come into contact with a sales host who through suggestive selling, can influence the purchase decision. There is no question that suggestive selling can influence the guest's purchases. One experiment we made indicated that the average guest check can be increased by 50% when a service person simply suggests products to the guest. Two critical elements of suggestive selling are:

· Identifying and selection of the sales "type" person.

· Training in the art of suggestive selling.

Selecting the "right" people for the sales hosts position is the basis for a successful merchandising programme. The sales host must have the qualities of intelligence, enthusiasm, a need for affiliation, and a desire to influence others. What's more, they must contribute to a climate of entertainment which is the background for increasing the guests desire to purchase additional benefits.

The single most important factor to maximizing the guest's expenditure is establishing the "merchandising climate" — this is a climate of hospitality and good will that is created by friendly service people who sincerely want to contribute to the guest's enjoyment. 

The guest's needs and wants are varied. People come to restaurants for business, relaxation, escape, change of pace, celebration, etc. Professional sales hosts know that the more they can personalize the experience the better the climate of merchandising.

There is a hierarchy of needs. We must understand that in most cases people enter a restaurant hungry. It is necessary to neutralize this hunger need. For example, if you want to merchandise alcoholic beverages, astute merchandisers provide some light food ("drink stimulator") to curb their appetite while guests have a cocktail or two.

Another critical guest need is being made to feel welcome. The great Win Schuler was a master of illustrating this concept. He stressed the remembering of guest's names and doing the little personal thing . . . like preparing a special salad that would make the guest feel special.
reading comprehension

Directions: After reading the text, choose the best answer to each question. Answer all questions following the text on the basis of what is stated or implied in   the text.
1. The text you have read is about selling. List five key words you might expect to see in the text.

2. Think of a heading for each paragraph of the text.

3. Which of the following is true?

a) There is a hierarchy of structures.
b) There is a hierarchy of needs.
c) There is a hierarchy of ranks.
4. The word “herein” in line 1 is closest in meaning to

a) however

b) thus

c) in this place

5. The word “astute” in line 33 is closest in meaning to

a) cunning

b) lazy

c) good-natured

TEST 4
STRUCTURE AND WRITTEN EXPRESSION
Directions: In this part each problem consists of an incomplete sentence. Below the sentence are four choices marked (A), (B), (C) and (D). You should find the one choice which best completes the sentence. 

1. Quality control must be taken ……………….. consideration when developing your market plan.
	(A) in
	(C) with

	(B) into
	(D) onto


2. Selection of vendors and brands ……………………. a management decision.
	(A) are
	(C) were

	(B) have been
	(D) is


3. Skills should be upgraded and the employee must be given the opportunity ………………….. advancement.
	(A) for
	(C) in

	(B) of
	(D) to


4. In hiring bartenders it is suggested that you recruit …………………. a reputable bartending school.
	(A) at
	(C) in

	(B) from
	(D) under


5. Most guests arrive ……………….. a hotel as strangers to the property and with luggage and other items that need immediate transportation to guest and meeting rooms.
	(A) to
	(C) on

	(B) from
	(D) at


6. ………………… such problems, there are numerous reasons why resort hotels are built in remote locations.
	(A) Despoil
	(C) Despise

	(B) Despite
	(D) Desperate


7. This attention to the business market has apparently paid off, as resorts have been gaining in popularity ……………….. business travellers.
	(A) between
	(C) in space

	(B) in time
	(D) among


8. Both management and staff are ………………………….……. dedicated to the care and comfort of guests.
	(A) from time to time
	(C) sometimes

	(B) totally
	(D) occasionally


9. Transient hotels operate ……………… .
	(A) once a year
	(C) all the year round

	(B) twice a year
	(D) last year


10. The problems of ………………. a seasonal enterprise are numerous.
	(A) manageable
	(C) managing

	(B) managerial
	(D) manageress


11. There will be a meeting of the ………………… of Directors tomorrow afternoon.
	(A) Board
	(C) Council

	(B) Committee
	(D) Cabinet


12. Computer games …………………….. me, they are so confusing.
	(A) ruffle
	(C) snaffle

	(B) baffle
	(D) scuttle


13. The …………………….. of employment are set out in the contract.
	(A) arrangements
	(C) requirements

	(B) conditions
	(D) specifications


14. According to the retail price ………………… inflation is down by 2%.
	(A) index
	(C) list

	(B) bulletin
	(D) report


15. The going ……………… for the job is Ł5 an hour. 
	(A) pay
	(C) price

	(B) wage
	(D) rate


16. These figures will give you a ………………….. estimate of the cost of the goods.
	(A) superficial
	(C) scant

	(B) rough
	(D) short


17. At many restaurants a service ……………………. is included in  the bill.
	(A) charge
	(C) tax

	(B) tip
	(D) gratuity 


18. That notice says there is no admission except to ……………….. personnel.
	(A) legitimate
	(C) approved

	(B) authorized
	(D) lawful


19. The only ………………….. was that there was no air-conditioning in the hotel.
	(A) hitch
	(C) fault

	(B) catch
	(D) snag


20. Have you ………………….. your holiday yet?
	(A) set up
	(C) tied up

	(B) fixed up
	(D) taken up


TEXT 4
SERVICE IN THE HOSPITALITY INDUSTRY
Read and translate the text using a dictionary

In order for us to understand what service is and what it means to those of us involved in a service industry, we must expose some basic human needs. Abraham Maslow, a noted psychologist, identifies five needs: (1) physiological such as hunger, thirst and sleep; (2) safety or protection from danger, threat or deprivation; (3) love or the need to associate with others and receiving affection; (4) esteem for our own self- respect and the respect of others; and (5) self ‑ actualization or self ‑ fulfillment.

When we think of giving service to another person, what we are doing is attempting to satisfy the human needs of love and esteem. When we fail to give good service, we are failing to support our guests' needs for his self-respect and his need to feel loved or, at the least, cared for. As a consequence our guests may feel, perhaps in a small way, rejected, isolated and resentful. When we succeed in giving good service, we have met some of our guests' basic needs by appealing to their status, self-respect or need to be cared for. 

Lately we have seen our service industry concentrate on increasing employee productivity by using computers and a host of mechanical and electronic labour-saving devices. While this change is not only justified, but necessary, some hotels and restaurants have let the very essence of our industry take a back seat to mechanization and computerization.

What does giving good service mean to our guests and, in turn, for our business? A hotel and a restaurant depend on return business or repeat guests to provide them with a certain market base. Offering good service builds on the base and develops loyal customers for our operation. Advertising and promotion techniques are necessary in today's media-filled world. Yet there is probably no equal to a fair value for the guest's dollar and an environment where our guest knows he is welcome. 

reading comprehension

Directions: After reading the text, choose the best answer to each question. Answer all questions following the text on the basis of what is stated or implied in   the text.
1. The text you have read is about service. List five key words you might expect to see in the text.

2. Think of a heading for each paragraph of the text.

3. Which of the following is true?

a) ……………….. we must expose  some basic human needs.
b)  ………………. we must not expose any basic human needs.
c) ……………….. we must not reveal the truth about basic human needs.
4. The word “resentful” in line 11 is closest in meaning to

a) indignant

b) touchy

c) thoughtful

5. The word “esteem” in line 8 is closest in meaning to

a) respect

b) expect

c) suspect

TEST 5
STRUCTURE AND WRITTEN EXPRESSION
Directions: In this part each problem consists of an incomplete sentence. Below the sentence are four choices marked (A), (B), (C) and (D). You should find the one choice which best completes the sentence. 

1. It is …………………. impossible to find a good educational computer programme.
	(A) barely
	(C) hardly

	(B) merely
	(D) nearly


2. With a word …………………… you can produce a document much faster than with a typewriter.
	(A) computer
	(C) printer

	(B) processor
	(D) copier


3. “I can read you like ……………………” , the secretary said.
	(A) a blank page
	(C) an open book

	(B) a closed chapter
	(D) the spoken word


4. Holidaymakers had to ……………………. with strong winds and heavy rain.
	(A) combat
	(C) strive

	(B) contend
	(D) resist


5. The travel agency offered Ł5 …………………. for every Ł50 spent on a holiday booked through them.
	(A) receipt
	(C) coupon

	(B) docket
	(D) voucher


6. …………….. we will start the docking manoeuvre with the Tokyo Orbital international hotel.
	(A) At this early stage
	(C) In a few minutes

	(B) At that time
	(D) Just a few minutes


7. Japan’s Shimuzu Corporation is already making plans for the day that there are regular flights ……………… space, not for astronauts and cosmonauts, but for tourists and sightseers.
	(A) in
	(C) out of

	(B) into
	(D) from


8. Resort organizations ………………. or grouped according to front of the house and back or heart of the house areas.
	(A) may be divided
	(C) have been divided

	(B) will be divided
	(D) has been divided


9. Unlike social impacts, ……………………. , environmental impacts are readily recognized.
	(A) in hand
	(C) on the other hand

	(B) on one’s hand
	(D) out of hand


10. It is ………………… imperative that good relations be developed and maintained between the resort and its host community.
	(A) so
	(C) such

	(B) therefore
	(D) nearly


11. The ……………… of this paper is to provide an introductory overview to personnel management and industrial relations in the hospitality industry.
	(A) objective
	(C) purpose

	(B) plan
	(D) intention


12. “Human Resource Management” is the …………………. new term for personnel management.
	(A) absolutely
	(C) relatively

	(B) perfectly
	(D) completely


13. Not only did many people volunteer to bring food for the picnic,  …………….. .
	(A) they brought food
	(C) many people offered to bring drinks and games

	(B) but also drinks and games
	(D) many people did not offer to bring drinks and games


14. Traveller’s checks are useful when one is travelling because ……………….. people refuse to accept them.
	(A) quite a few
	(C) few

	(B) a few
	(D) many


15. If we …………………… salt, the soup would have been tastier.
	(A) add
	(C) don’t add

	(B) could add
	(D) had added


16. I’m afraid we shall have to ………………….. with your services.
	(A) dismiss
	(C) dispense

	(B) discharge
	(D) discount


17. Traditionally the hospitality industry has depended …………………….. upon the youth market to fill many of the entry level positions.
	(A) highly
	(C) hardly

	(B) heavy
	(D) heavily


18. In nearly all business, labour is an important determinant ………………….. profitability: in the service sector it is crucial.
	(A) of
	(C) in

	(B) at
	(D) for


19. ………………..…… , it is felt that there are essentially three reasons for this heightened concern about the human elements in the hospitality industry.
	(A) However
	(C) Additionally

	(B) Moreover
	(D) Finally


20. Some firms experience turnover rates …………………….. 300 per cent.
	(A) by
	(C) for

	(B) at
	(D) to


TEXT 5

The Market Research Process
Read and translate the text using a dictionary
Market research must begin with the establishment of objectives by management. They must understand what information is needed and how it will be used. 

The situation analysis is the first step in the market research process. This is a survey of all the available information about the company, its products and services, the market, the hospitality industry in general, that particular part of the industry in which the firm is operating (e.g., fast food, budget motels, airline travel, equipment sales, etc.), sales area demographics, media information, promotion, and so on. Sources might include interviews with customers and employees, company records, local radio and television stations, newspapers, trade publications, libraries, and government agencies.

The preliminary assessment is meant to give you a "gut feel" for the problem. Talking with competitors and industry executives, as well as consumers, will help you to focus on the most critical issues. This stage should clearly outline the specific reasons why time and money should be devoted to this study (or should not). Perhaps at this point the answer to your problem will become intuitively obvious. If so, then formulate an action plan immediately. If further investigation is necessary, you must decide how much money and time you are willing and able to spend and if the quality and quantity of data that will be produced warrants that expenditure.

Next, you must organize the research by developing a plan that outlines what you are going to do (nature of the study) and how you are going to do it (methods to be used). Generally speaking, market research is like studying a mountain. It is approached from a distance; then information is collected on the way to the top and is checked on the return trip to the most distant viewing points.

As you begin to investigate data sources consider secondary research first. Secondary research simply involves going to already published books, journals, surveys, and studies and rearranging or using the material to suit your particular needs. Remember that business publications, trade associations, and government agencies are rich sources of information. 

reading comprehension

Directions: After reading the text, choose the best answer to each question. Answer all questions following the text on the basis of what is stated or implied in   the text.
1.  The text you have read is on marketing. List five key words you might expect to see in the text.

2.  Think of a heading for each paragraph of the text.

3.  Which of the following is true?
d) Generally speaking, market research is like studying a mountain.

e) Generally speaking, market research is far from studying a mountain.

f) Generally speaking, market research is unlike studying a mountain.

4.  The word “assessment” in line 12   is closest in meaning to

a) error

b) estimation

c) attitude

5.   The word “gut” in line 12   is closest in meaning to

a) intuitive
b) boring
c) continuous

TEST 6
STRUCTURE AND WRITTEN EXPRESSION
Directions: In this part each problem consists of an incomplete sentence. Below the sentence are four choices marked (A), (B), (C) and (D). You should find the one choice which best completes the sentence. 

1. All of these factors taken in consort with one another have forced corporate management to commit ……………………..  time, money and effort to the human resource area.
	(A) more
	(C) few

	(B) less
	(D) a few


2. It is only possible to project manpower requirements if in fact all operational plans ……………………. known.
	(A) is
	(C) being

	(B) are
	(D) were


3. If this is not done or not done well the other following activities ………………… suffer.
	(A) would
	(C) may

	(B) should
	(D) ought to


4. The ability to work is …………………. easier to measure and assess than the motivational aspects of the individual.
	(A) most
	(C) too

	(B) very
	(D) far


5. There are, ………………… , some benefits which may be derived from seeking applicants from outside the firm.
	(A) thus
	(C) thanks to

	(B) however
	(D) also


6. The primary benefit is that the firm is introducing new ideas at a level in the organization where they may be acted ……………………….. .
	(A) upon
	(C) at

	(B) with
	(D) from


7. In this case it would hardly be in the best interest of the organization to proceed blindly with a promotion from …………………. policy.
	(A) such
	(C) that

	(B) this
	(D) within


8. If you do not like the speaker’s appearance, delivery, accent, point of view, political affiliation, or economic status, you are much more likely to “tune him ……………….. ”.
	(A) over
	(C) in

	(B) through
	(D) out


9. What …………………… be done to improve communication skills at the receiver’s end in terms of better listening skills?
	(A) can
	(C) have to

	(B) must
	(D) has to


10. The most practical approach is a course built ………………. tapes or cassettes.
	(A) about
	(C) around

	(B) at
	(D) for


11. ……………………. it is important for a manager to keep in mind that not only must he send the message, verbally or in writing, but it also must be received and understood.
	(A) However
	(C) If

	(B) Thus
	(D) While


12. …………………… we are talking about developing a marketing strategy that consists of two major steps.
	(A) There
	(C) Here

	(B) As
	(D) Obviously


13. As we said earlier, to be marketing oriented is to realize that you can’t solve ……………….. needs.
	(A) anybody’s
	(C) somebody’s

	(B) someone’s
	(D) everybody’s


14. There must be a clear and effective relationship …………………….. the data, the interpretations, and the recommendations.
	(A) within
	(C) between

	(B) among
	(D) of


15. We must understand that in most cases people ………………… a restaurant hungry.
	(A) come out
	(C) enter

	(B) come down
	(D) come off


16. Another critical guest need is ……………. made to feel welcome.
	(A) being
	(C) to be

	(B) been
	(D) be


17. Food to be consumed is prepared for production and when ready is delivered ……………….. the appropriate production area.
	(A) for
	(C) at

	(B) to
	(D) in


18. Ranges designed to ………………….. heavy production requirements may have a solid hot top, a set of open top burners, or a solid griddle and utilize the oven as a base.
	(A) rise
	(C) meet

	(B) undergo
	(D) need


19. This is an extremely versatile …………………. of equipment and is commonly used for cooking stews, pot roasts, eggs, fried potatoes and many other products.
	(A) peace
	(C) pice

	(B) pease 
	(D) piece


20. One person we seldom see but who performs one of the most important functions in a hotel is the room attendant or maid who is responsible for ………………… our rooms clean.
	(A) holding
	(C) hurling

	(B) keeping
	(D) hunting


TEXT 6
The Development of a Marketing Strategy
Read and translate the text using a dictionary
Obviously, an understanding of the marketing concept, no matter how thorough, is not enough. You must know how to implement it. Here we're talking about developing a marketing strategy that consists of two major steps: (1) the selection of a target market; and (2) the development of a marketing programme to satisfy the needs of that target market.

As you can see, the process of strategy development begins with an analysis of various marketing opportunities. These opportunities might involve determining how many individuals might be receptive to the knowledge and experience you could contribute; or they might involve economic, demographic, or social changes that figure to create problems for people in the future but create opportunities for you or your firm. At any time, a variety of marketing opportunities present themselves. Part of the problem is to determine which ones are the best for you to try to satisfy. Part of the marketing orientation is to realize that you cannot, after all, be all things to all people.

The first part of the analysis requires you to identify potential "segments" of a market and to determine their needs and wants. Consumer surveys, trade association data, formal research, and the observation of behaviour are some of the ways to identify these segments. But why do we concentrate on needs and wants? Basically, needs and wants provide motives for purchasing and for other consumer actions. When his needs are not satisfied, consumers experience a state of tension which drives them to find some other way to satisfy the need and thus reduce or eliminate the uncomfortable tension. The direction the drive takes to satisfy the needs is what we call "the want." It is not innate; rather it is learned during the course of the consumers' lives. Consumers, like all of us, are influenced by their past experiences and such other influences as advertising. For example, a consumer may be hungry at noon and always go to the same fast-food restaurant. His hunger is the need. The     fast-food restaurant is the direction he usually goes to satisfy the need or the want.

Estimates of segment potential may be expressed in such terms as "profit," "individual income," or "number of people identified as having a particular problem." Whatever the classification, the purpose is to determine whether the need identified for a particular segment is worth your time and effort to solve. As we said earlier, to be marketing oriented is to realize that you cannot solve everybody's needs. You want to focus your efforts. To use a hunting metaphor, marketing is like citing in a rifle instead of blasting away with a shotgun.

In the next stage, target market selection, we choose from among the available opportunities we find in the market we wish to focus our efforts upon. In short, we match the characteristics of the segment with our organizational situation to find the best fit possible. We wish to devote our time and effort to those problems upon which we will have the most positive impact. Among our segment characteristics, we must discover which wants and desires predominate - that is, the direction in which consumers have previously gone to satisfy a need and the direction or preference they might have for satisfying the need in the future. Economic power, which is the amount of financial resources consumers can bring to bear on the satisfaction of their needs, is extremely important to learn, for it can be one of the major obstacles to the development of a successful marketing programme. The segment may be interested and the firm may be in a good position to satisfy its needs, but if the segment numbers cannot make the effort worth your economic while, it is not a suitable target market.

reading comprehension
Directions: After reading the text, choose the best answer to each question. Answer all questions following the text on the basis of what is stated or implied in   the text.
1. The text you have read is about various marketing opportunities. List five key words you might expect to see in the text.
2. Think of a heading for each paragraph of the text.
3. Which of the following is true?

a) ………………….. a consumer may be hungry at noon and always go to the same fast-food restaurant.

b) ………………….. a consumer may be full up at noon and seldom go to the same fast-food restaurant.

c) ………………….. a consumer may be full up in the morning  and seldom go to the same fast-food restaurant.

4. The word “target” in line 4 is closest in meaning to

a) for a special purpose

b) to no purpose

c) to little purpose

5. The word “innate” in line 23 is closest in meaning to

a) inborn
b) hostile

c) mutual.
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